
NORDEN 901 2022 <2022><EU><F2803V1>
TANK, SEAT

57953

Pos Part Number Description Additional Text Quantity

1 22107047000 Passenger seat 1.00

2 22107040000 Rider seat 1.00

3 22107013066C1 Fuel tank 1.00

4 014579050301 Screw ISO 14579-M5x30-8.8-P3R 3.00

5 014579050081 Screw ISO 14579 M5x08-8.8-P3R 3.00

6 76007008052 GASKET TANK PLUG 1.00

8 22107008050 Tank insert 1.00

9 21007008251 Seal, tank insert 1.00

10 0912080403 AH collar screw DIN0912 M8x40 4.00

11 61007060000 collar bushing, bearing, outsi 4.00

12 61007065000 collar bushing, front tank hol 8.00

13 22107088020 Protective plate, fuel pump 1.00



14 60307080090 Gasket fuel lever sensor 1.00

15 22107080000 Fuel level sensor 1.00

16 0912050163 AH collar screw DIN 912 M5x16 4.00

17 63507016000 Interconnection hose 1.00

18 58031005000 CLAMP YDNAC 10128 12MM FOR 12 LITER TANK 2.00

19 0025060126S Hex collar screw M6x12 ISA30 s 4.00

20 58507003200 Fuel cock cmpl. 2.00

21 22115126000 Pre-formed hose, tank insert/d 1.00

22 64111059020 Cable holder, attachable 3.00

23 22107013040 Fuel tank protection sticker 6.00

24 0019050121 COUNTERSUNK SCREW ISA25 M5X12 1.00

25 58605083014 Oval head screw M5x14 TX25 only for "R" 2.00


